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3HQXOLV� VDGDU� EDKZD� 7XJDV� $NKLU� LQL� WLGDN� GDSDW� GLVHOHVDLNDQ� WDQSD� GRD� GDQ�

GRURQJDQ�VHPDQJDW�DWDXSXQ�EDQWXDQ�GDUL�EHUEDJDL�SLKDN�\DQJ�WHUNDLW��0DND�GDUL�

LWX�SDGD�NHVHPSDWDQ�NDOL�LQL�SHQXOLV�LQJLQ�EHUWHULPD�NDVLK�NHSDGD��

�� .HGXD� RUDQJ� WXD� \DQJ� WHODK� PHPEDQWX� GDODP� KDO� NHXDQJDQ� DWDXSXQ� PRUDO�
VHUWD�PHPRWLYDVL�SHQXOLV�XQWXN�VVHJHUD�GDSDW�PHQ\HOHVDLNDQ�WXJDV�DNKLU��'DQ�
WLGDN� OXSD� MXJD�DGLNNX� \DQJ�VHODOX�PHQJLQJDWNDQ�GDQ�PHQ\HPDQJDWL�SHQXOLV�
XQWXN�VHJHUD�GDSDW�PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL��

�� ,EX�,U�0DULQD�<�/XELV��0�6L�VHEDJDL�3HPELPELQJ�VDWX�\DQJ�WHODK�EHUEDLN�KDWL�
GDODP�PHPELPELQJ�SHQXOLV�GDODP�KDO�NRQWHQ�SDGD�WXJDV�DNKLU�LQL��

�� %DSDN�+HUL\RQR�/DOX��6�7��0�7��VHEDJDL�3HPELPELQJ�GXD�\DQJ�WHODK�EHUEDLN�
KDWL�PHPELPELQJ�SHQXOLV�GDODP�KDO�SHQXOLVDQ�SDGD�WXJDV�DNKLU�LQL��

�� %DSDN�)LUURV��%DSDN�,TEDO�GDQ�VHJHQDS�SHJDZDL�37��;<=�ODLQQ\D�\DQJ�WHODK�
PHPEDQWX�SHQXOLV�GDODP�PHODNXNDQ�SHQHOLWLDQ�GL�ODSDQJDQ��

�� .HSDGD�WHPDQ�NHORPSRN�WXJDV�DNKLU�*LWD�GDQ�$\X��\DQJ�VHODOX�PHQ\HPDQJDWL�
GDQ�PHPEHULNDQ�PDVXNDQ�� GDQ� VDKDEDW�VDKDEDW� NX� \DQJ� MXJD�PHQ\HPDQJDWL�
VHKLQJJD�SHQXOLV�PHQMDGL�VHPDQJDW�GDODP�PHQJHUMDNDQ�WXJDV�DNKLU�LQL�

3HQXOLV�VDGDU�GDODP�WXJDV�DNKLU�LQL�PDVLK�MDXK�GDUL�NDWD�VHPSXUQD��0DND�GDUL�LWX�

SHQXOLV�PDVLK�VDQJDW�PHPEXWXKNDQ�NULWLN�GDQ�VDUDQ�GDUL�EHUEDJDL�SLKDN�
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